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I 17 mwn: range of »w1p included in MR
a  Whether: he offers 1w w1p, or invalid owTp that became invalidwTpa (i.e. y171° R 19y pR) — liable
i Support: ®n»91, interpreting vv. 1-2
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51v. refers to N9y

nar ¥ expands to include R of all o'nar, whether 0wp *wTp or D% DWP

2271 8D TV 57N o SN expands to include mav1 ,mnan etc. — anything that ought to be brought to n”& nna
mwys: expands to include w1pa YOMIY DWTP; e.g. R¥Y JY etc.

b And: offering up one m1 of N9y (meat) and its 1R — liable
i Implication: only n%1 »1R and its meat can combine for n’r, not D INRY BINOY
ii  Support: 1 —n%Y and its 7Pk combine for n>ta for yina ARYYN and V"9
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Note: nR5yn is understood, as per our ruling
But: v"a -7 n»yn explicitly states that all %18 and anm combine to generate Myw
(a) Answer: 98 nawnn does not combine (intent to burn %2 n1a and intent to eat Y2 n°1a); %9 itself merges
(b) And: a1 combines, but combining remains to justify 7”19t — don’t combine
(i) Per:ywip 1 —if 1 o1y of meat and 1 a9n no13 remain — do 7”n71; if only %2 nor each — don’t do 777t
1. However: if it is an n%p, the two halves combine to allow 77t
2. Addendum: in re: 501 nnin (that accompanies a j27p) — even if it is entirely present, no 171 is
performed (if there isn’t sufficient 1R left)

II 27 mwn: dispute o'nan/r™ about offering n’1a — but less than the proper amount — of nao1 Mnn
a  If: he offered ymp or nna% (of a nnan), n1vp, 01N Ny (incl. "> NMan) or orvVI NNIN
i ppom liable if he offered nota
ii &7 only liable if he offers the full amount (of the proper 121p)
b If: he offered all but m13 inside then offered the last n'1> outside — all agree he is liable
i Related, xr772: if he is vpn no1 outside he’s 27n; if he offers 2 v19 (the prescribed amount of nmvp) inside — 1va

1

Assumption: 2" clause refers to a non-jn3 being exempt for offering n1op

(a) Challenge: he did offer a m13 — why should he be exempt

Rather (27): means the M2y is exempt, i.e. has fulfilled its obligation of nmop

Challenge (8¥7r *7): 17 commented that 8”1 would assent to this ruling

(a) Explanation: in our niwn, 8" requires full offering for liability - would require full for mxn (inside)

Answer] (727): in re: (daily) n1vopn in 92°n, all agree that no My is needed, not for mxn nor for (y1n1) 2N

(a) Dispute: is re: mvpn of 3”1y, whether v. 3 indicates a 1w or not

(b) Challenge (»3a8): but npn (indicating specificity) is written in re: 2"nv

Answer2 (»ax): all agree that 2”07 nYopn requires a NYY;

(a) Dispute: is re n7opn of 930 — whether we infer from 0”9 or not

(b) Challenge (837): »noN aren’t even willing to infer yinn yin, why would they infer nnan yin
(i) Background: no liabiltiy for less than 3 o5 of wine — even though that includes more than nor

Answer3 (X37): case where he put both %2 o1 in one *3; dispute is whether the 53 joins them

(a) Observation: the one who maintains that they are not joined would hold that if you put 6 215 for a 19,
took out 4 and offered them up outside, liable (as 4 is the 0’301 1YW for a ram); if he set aside 4 and took
out 3 - liable (as 3 is the »>01 MW for a lamb); but if any less — exempt

(b) Defense (of »aN’s position, contra 837's challenge): 13137 don’t infer 7071 from nN7YpPN, but are willing to infer
n1vpn from n1vpn, even though one is 0191 and the other yina
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¢ And if any of it was lost before offering it up and he offered it outside — all agree he is exempt
i Question: if it is lost outside, is that considered pon?
1 Lemmal: once its gone out, its 9108 — doesn’t matter if it's complete or not
2 Lemma2: only yyn which is “extant” is liable
3 Answer (»738): R"™'s approach — must be nY®
(a) Challenge (§¥27): how can we infer from R"?
(b) Answer: he heard in 27’s name — explicitly — that 1327 only disagree with 8™ if it is all there, but if 7on,
they agree
(i) Counter: perhaps that only means if it was qon while inside
(c) Proposal: from end of mwn — if any of them were missing — 1109
(i) Counter: that means if they were qon while still inside
I 10 mwn: pw1p and their MR offered together generate liability
a  Challenge: there is a nx'xn (between PR and narn — the meat!)
i Asnwerl (5xp): if he turned them over
it Answer2 (pny 73): even if he didn’t turn them over — follows w™ — even putting it up on a rock is 2n
iii  Answer3 (27): 11 pn is not a n¥¥n (all meat)
IV 2n mwn: special status of nxnpa Y NN
a  If:he had a nmn that hadn’t yet had ymp taken and offered it outside — exempt
b But if: the ymp fell back in to the nmn and he offered it yina - liable
i Question: why don’t 0»1w nullify ymp (which fell back in)?
it Answer (871 77): 170N is a rule of ymp and of DY, just as ymp doesn’t nullify ymip, so 071w don’t nullify ymip
V 1 mwn: dispute nnan/r" about offering part of the ymp outside
a  If: he offered either ymp or n1aY outside
i p'wom liable
ii &7 exempt until he offers both outside
iii However: if he offered one inside and the other outside — all agree that he is liable
b If he offered 1 of the n111% »>1a (atop p719n DNY) outside
i pwom liable
ii &7 exempt — until he offers both
iii However: if he offered one inside and the other outside — all agree that he is liable
¢ Nnay pny ’7s query: does ymp alone permit half the nmin to be eaten or not?
i Explanation: he is wondering if each ’nn (yn1p and n1aY) is nn half or “weakens” the Mmo'r
1 Question: according to whom is he asking
(a) If: according to n”1 — who maintains 9'nn 'nna 0’9391 — obviously each 1'nn permits half
(b) If: according to 1321 (of n™) — obviously it does neither (1nn rxna pYian Pr)
(c) If: according to 8" (here) — he holds like n”7 1117
(d) Rather: he is asking according to 8”17 1127 (here)
(i) Do they hold: that each 7nn is nn half -
(if) Or do they hold: that each 7'nn weakens the Mo'R? - 1p'n
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